YEAR 7 — APPLICATION OF NUMBER

Solving probems with muflipication and division

@whisto_maths

Orray: an arrangement of items to represent concepts in rows or colimns
Muttiples: found by multiclying any number by posttive. integers

¢ Understand and use muttipes Factor: integers that multiply together to get another number

» Muttiply/ Divide integers and decimats by powers Mil: prefix meaning one. thousandth
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Understand and use factors

o Use formal methods to muttiply Kilo:
- prefix medning muttiply by 1000
. UUSnZe{fs(tr;]ra\jﬂﬁ;i\Eihzgz E)Orivr\(j)ef operations Quotient: the resul of a duison
Dividend: the number being dvided

o Solve area problems »
« ol problems using the mean Divisor: the number we divide by
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